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BES-012 

Diploma in Elementary Education 

(D. El. Ed.) 

Term-End Examination 

June, 2019 

BES-012 : TEACHING OF MATHEMATICS 

Time : 3 Hours 	Maximum Weightage : 70% 

Note :All questions are compulsory. All questions 

carry. equal marks. 

1. Answer the following question in about 600 

words : 

Discuss the implications of Van-Hiele's model 
in teaching-learning of geometry. 

Or 

Explain the concept of mean, median and mode. 
How does these help us in drawing conclusions 
from the gathered data ? 

2. Answer the following question in about 600 

words : 

Explain the concept of reflection symmetry. 
How will you transact it in your classroom ? 
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Or 

Draw the NETs of pentagonal prism and square 
pyramid. 

3. Answer any four of the following questions in 

about 150 words each : 

(a) What is the difference between conceptual 

and procedural knowledge ? 

(b) How will you help children to understand 

prism and pyramid ? 

(c) What is activity based method ? 

(d) "Design of physical environment of 

classroom have great role in constructivist 
classrooms." Justify your answer. 

(e) Discuss any two mathematical processes 

used by children in problem solving. 

(f) How is algebra generalised in arithmetic ? 

4. Answer the following question in about 600 

words : 

Design some classroom activities to make 

students aware about the concept of linear 
equation. 

(A-27) 
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